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Solving Sequence

154’24’3*>64>4SH1067?9%>03a06708
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A knot d1agrarrE| c1 C2 Cs C4 Clo  C7
Ideals for irreducible component#ﬂ)f Xpar
It = (—26695942110849u*3 + 2422106245076 7u*? + - - - + 146051535266254b + 143537280527879,
— 958891166678785u*® + 1195830341741191u*? + - - - + 146051535266254a + 928016870112473,

Moy 4 —But1)
Iy=0b+1a+2 u-—1)

* 2 irreducible components of dim¢ = 0, with total 45 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

L.
It = (—2.67x10"3u*3+2.42x10"3u*2+. .. +1.46 X 10'*b+1.44 X 104, —9.59 X
10M44*341.20x 1015 u%2 4+ . . +1.46 X 10'*a+9.28 X104, u**—2u*3+...—5u+1)

(i) Arc colorings

- ()

o= ()
o= ()
2 + 1
a3 = u2
()
a4 = (u5 —ud + u>
6.56543u*3 — 8.18773u*2 + - - - + 35.0046u — 6.35404
ag = \(0.182784u*? — 0.165839u*2 + - - - — 0.0574672u — 0.982785
6.55549u*% — 8.08325u*2 + - - - 4 36.0390u — 5.60107
0.268862u*3 — 0.336643u*? + - - - + 0.229869u — 1.06886
—0.202656u*% — 0.625196u*2 + - - - — 1.87375u — 0.511274
—0.827844u*3 4 1.65839u*2 + - - - — 3.42533u + 0.827852

4.95923u*3 — 5.84946u*? + - - - + 26.4222u — 4.00846
a9 = \ —1.49853u*? + 1.58954u*2 + - .- — 9.24326u + 1.49850

(ii) Obstruction class = —1

(iii) Cusp Shapes
_ 2627515223052688,,,43 | 3096365063700750,,,42 | . _ 11221793800688154, | 2703461955268724
73025767633127 73025767633127 73025767633127 73025767633127




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs ut 2B+ +5u+1
C2,Cq w4+ 14uB 4 —u 1
€3 utt 4t 4 —u—1
6 utt Tt o —2u 42
c7,C10 ut =B+ —Bu—1
c8 utt —2ut o~ 1Tu - 11
9 utt — e - 21w+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, s Y 14y oyl
2,4 yM 34yt 4+ 13Ty + 1
c3 yM 6y gy 1
Co yM 0y 40y + 4
€7, C10 y* —26y" + - —Tly+1
cs Yt —42¢% 4 ... — 2995y 4 121
C9 M =38yt 4. — 123y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.927602 4 0.2263511
a = —0.224310 — 0.0629241
b= —0.115105 + 0.9112071

—1.13001 + 3.882981

—6.50680 — 7.759271

u = —0.927602 — 0.2263511
—0.224310 4 0.0629241
—0.115105 — 0.9112071

—1.13001 — 3.882981

—6.50680 + 7.759271

0.778786 + 0.7102141
1.43805 — 0.919091
—1.049480 + 0.8218461

0.040125 + 0.8202311

—5.81896 — 3.032291

0.778786 — 0.7102141
1.43805 + 0.919091
—1.049480 — 0.8218461

0.040125 — 0.8202311

—5.81896 + 3.032291

—0.927070 4 0.0630111
—1.49031 — 0.500211
—1.37113 + 0.483631

—4.92583 + 1.736631

—14.9087 — 4.13351

—0.927070 — 0.0630111
= —1.49031 + 0.500211
—1.37113 — 0.483631

—4.92583 — 1.736631

—14.9087 + 4.13351

—0.658922 4- 0.8461511
= —0.183634 — 0.5937471
0.865773 + 0.4605611

3.70844 — 0.994991

0.63089 + 2.414681

—0.658922 — 0.8461511
—0.183634 4 0.5937471
0.865773 — 0.4605611

3.70844 4 0.994991

0.63089 — 2.414681

0.878177 + 0.6604561
0.670319 + 1.2308101
—1.59639 + 0.095631

—1.82200 — 2.557061

—9.50147 4 2.980041

0.878177 — 0.660456.1
= 0.670319 — 1.2308101

b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= —1.59639 — 0.095631

—1.82200 + 2.557061

—9.50147 — 2.980041




Solutions to I}

V=1(vol + v=1C)

Cusp shape

= —0.840203 + 0.7317961
= 0.53742 4+ 1.706781
= —0.912754 — 0.2015761

1.40942 + 2.098521

—2.80453 — 11.500691

—0.840203 — 0.7317961
0.53742 — 1.706781
—0.912754 4 0.2015761

1.40942 — 2.098521

—2.80453 + 11.500691

0.772905 + 0.8187771

= 0.33712 — 1.680781 5.49636 + 2.428711 0. —2.256781
= 0.254394 + 1.1368701
= 0.772905 — 0.8187771
= 0.33712 4+ 1.680781 5.49636 — 2.428711 0. +2.256781

0.254394 — 1.1368701

0.709073 + 0.8833857

1.27066 — 0.624081

2.27409 + 8.605691

—2.63926 — 4.581901

0.709073 — 0.8833851
—0.840026 — 0.8625081
1.27066 + 0.624081

2.27409 — 8.605691

—2.63926 + 4.581901

= —1.117850 + 0.2380851
1.25957 + 0.833691
1.277770 — 0.4529511

—5.29949 + 8.627661

—9.10597 — 7.546551

—1.117850 — 0.2380851
1.25957 — 0.833691
1.277770 4 0.4529511

—5.29949 — 8.627661

—9.10597 + 7.546551

—0.902384 + 0.7239121

U
a
b
U
a
b
U
a
b
U
a
b
U
a = —0.840026 + 0.8625081
b
U
a
b
U
a
b
U
a
b
U
a
b

= —0.42622 — 3.078451 1.21777 + 3.451811 0.+ 7.888631
= —0.993100 + 0.1828021

u = —0.902384 — 0.7239121
= —0.42622 + 3.078451 1.21777 — 3.451811 0. — 7.888631

a
b= —0.993100 — 0.1828021




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.940648 + 0.7021201
a = —0.12431 + 2.400111
b= —1.20650 — 0.833421

u =

—0.45271 — 6.247471

—7.31920 + 8.441591

uw=0.940648 — 0.7021201
a = —0.12431 — 2.400111
b= —1.20650 + 0.833421

—0.45271 + 6.247471

—7.31920 — 8.441591

u= 1.18227
a= 112361
b= 0.834518

—2.71479

5.71830

u=0.802912 4 0.1425071
a= 0.916574 + 0.5186901
b= —0.174142 — 0.0242211

—1.40557 — 0.349341

—7.47293 + 0.481181

w=0.802912 — 0.1425071
a= 0.916574 — 0.5186901
b= —0.174142 + 0.0242211

—1.40557 + 0.349341

—7.47293 — 0.481181

u= 0.812067
a = —6.68009
b=-1.03778

—2.95636

47.1560

u=0.098222 4 0.8052681
a = —0.628805 — 0.6911391
b= 1.121430 + 0.4353981

—1.20700 — 5.248151

—2.80453 + 6.187311

u= 0.098222 — 0.8052681
a = —0.628805 + 0.6911391
b= 1.121430 — 0.4353981

—1.20700 + 5.248151

—2.80453 — 6.187311

u= 1.133010 4 0.3691281
a= 0.498144 — 0.7258781
1.113320 — 0.2537281

—4.55359 + 1.092311

—9.24999 — 5.057721

SRS
I

1.133010 — 0.3691281
a= 0.498144 + 0.7258781
1.113320 + 0.2537281

—4.55359 — 1.092311

—9.24999 + 5.057721




Solutions to I}

V=1(vol + v=1C)

Cusp shape

= —0.835443 + 0.8528741
—0.056114 4 0.8173611
0.565371 — 0.4193401

4.53169 + 2.824131

0. —4.929031

—0.835443 — 0.8528741
—0.056114 — 0.8173611
0.565371 + 0.4193401

4.53169 — 2.824131

0. +4.929031

—0.940979 + 0.796566.1
= —0.298082 — 0.2665901
0.375731 + 0.4141521

4.19341 + 3.307561

—0.940979 — 0.796566.1
—0.298082 + 0.2665901
0.375731 — 0.4141521

4.19341 — 3.307561

0.973933 + 0.7574951
= —1.09792 4- 1.170971
0.181664 — 1.2033701

4.87682 — 8.338771

0.+ 7.628161

0.973933 — 0.7574951
—1.09792 — 1.170971
0.181664 + 1.2033701

4.87682 + 8.338771

0. —7.628161

= —1.046830 + 0.7319851
0.54736 4 1.473261
0.992978 — 0.4105231

2.52892 + 6.897631

—1.046830 — 0.7319851
0.54736 — 1.473261
0.992978 + 0.4105231

2.52892 — 6.897631

> Q@ S8l @ €| @ 8|l & 8| & 8| @ 8|l & 8| & 8| & =8

1.033090 + 0.7624001
0.30235 — 2.161821
1.32116 + 0.626041

1.2704 — 14.70991

=
<

o R

1.033090 — 0.7624001
0.30235 4 2.161821
1.32116 — 0.626041

1.2704 + 14.70991




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.109387 + 0.5469731
= 0.696572 + 1.0056101
0.218376 — 0.6060221

1.40694 — 1.210231

2.44144 4 1.679231

—0.109387 — 0.5469731
= 0.696572 — 1.0056101
0.218376 + 0.6060221

1.40694 + 1.210231

2.44144 — 1.679231

0.188748 + 0.2591641
2.94448 4+ 0.603721
—1.038390 — 0.2250351

—1.92044 — 0.803421

—4.41092 — 0.121741

0.188748 — 0.2591641
2.94448 — 0.603721
—1.038390 + 0.2250351

U
a
b
U
a
b
U
a
b
U
a
b

—1.92044 + 0.803421

—4.41092 + 0.121741




1. I%

(i) Arc colorings

o= (1)
o= (1)
o= (1)
w= (o)
w= (i

o= (33
o= (1)
= (3)

(ii) Obstruction class =1

(iii) Cusp Shapes = —12

(b+1, a+2, u—1)

10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C4 u—1
C7
C2,Cs5, Cg u+1
Cy, C10
Ce U

11



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
C4,C5,C7 Y- 1
€8, C9, C10
Cg y

12



(vi) Complex Volumes and Cusp Shapes

Solutions to IY V—1(vol ++/—=1CS) Cusp shape
u = 1.00000
a = —2.00000 —3.28987 —12.0000
b = —1.00000

13



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (w—1)(u™ 4+ 2u*® + -+ 5u+1)
C2 (w+1)(u™ 4+ 14u™ 4 - —u+1)
3 (w—1)(u™ +4u*® + - —u—1)
Ca (w—1)(u™ 4+ 14u™ 4 - —u+1)
Cs (w+1)(u™ 4+ 2u*® + -+ 5u+1)
6 u(u® + Tut 4 - 2u 4 2)

7 (w—1)(u™ —2u*® ... —5u—1)
08 (w4 1) (u* = 2u® + - — 170 — 11)
Co (w+1)(u™ — 4u*® - —2lu+1)
c10 (u+ 1) (u* —2u™ + - —5u—1)

14



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,c5 (y — )(y™ =14y + - +y+1)
Ca,C4 (y — 1)(y* + 34y* + - + 137y + 1)
“ (y = D" +6y" + - +y+1)
c y(y™ =9y + - — 40y +4)
¢z, C10 (y — 1)(y44 —26y* + - —Tly + 1)
cg (y — 1)(y** — 42y* + - - - — 2995y + 121)
Co (y — 1) (y** —38y™ + ... — 123y + 1)
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